N = 0 &8 AF S 9 Al A
20218 = 20l A LBFSH M A
2H: BEESDY
HM: HY2HAH (BB ESH)

Chel: o2 dy(#AL S ) CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
sSZES 31,492,722 27,279,954 4,212,768

= 789,220
Al 1,775,299
- 28,928,203
HESAALH (P ES W) 6,821,010 7,144,053 N323,043
oleEedd|(std 23 1) 6,776,037 7,094,045 A 318,008
oleASAH|(&#FE S 1) 6,776,037 7,094,045 N 318,008
101 @121l 6,776,037 7,094,045 A 318,008
03 I HAsZ22 NHE 6,776,037 7,094,045 A 318,008
OstHDI&H(84Y) 6,741,087
A=) 2,722, 7603 x84H x12& 2,744 543
8324 1,581,380& *84H 23| 265,672
S EEECE
26,7103 *25H «12A1 2t 12& 96, 156
— o222 8,900& x84 H 27 x12& 242,223
— 522 106,830& x84 x90 ! 807,635
— iR asg 142,430& 84 x10L 119,642
— S22 90,000& x84H x12& 90,720
— AL 70,0003 x84 x12& 70,560
- ItEx4 54,720
o < Xt 40,0003 x66H x12& 31,680
MNAHE=HI S 20,0003 x96H x12& 23,040
— I AH| 170,000& x84 x12& 171,360
—JlHEXZ 110,000& x84 x12& 110,880
— 9 ZE=FJtH| 1,897,660& x84 23| 318,807
—-=S=2 75,0003 x84 x12& 75,600
—SKix=E 126,000 x84H x12& 127,008
—2A2A2E 60,012,300& 84X x3.335% 168,119
—=20d=2 60,012,300 842 x4 5% 226,847
- 1828 60,012,300& *84X x0.8% 40,329
—MHEE 60,012,300 x84 *0.8% 40,329
— &332 119,249,570& *3H 357,749
—EAS(S2H L
4,163,840 x6H 108 x150/ 100 374,746
— Sz 5,500 x 10 x25| %252 « 12& 33,000
— &oly| 3,363,000& *3& 10,089
— =& 2A Mol24 X2l
3,000, 000& *84H *3% 7,560
—gRA 2A Y AHY =
3,363,000& *20% 673
—LCSXE 22| 1,000,000& ~12& 12,000
— B & 30,000& x14H x12& 5,040
— A 202 5,550,000& x12& 66,600
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= o
A & 0l & AF 2 E A A
20219 &= = 0llat LB & XA
M BAES
HH: HHSAAY (BBLS D)
el o2y (#ALE5 D) (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 2249 g Jlgs ¢ 30,000 *84H 2,520
—dslaz X3 48,720
S ABDI(Z2W AHAIE)
450,000& +x84H + 13| 37,800
SHEEDI(h =2&3AH)
130,000& 84 H = 13| 10,920
— &30/3¥ O=H 51,240
A= (EF,01,52) 180,000& x84 H 15,120
GHEZE), 2R Y HAS(2ESF)
90,000& x84H 7,560
oOtME 2 otM St 90,0003 x84H 7,560
<9, &t 70,0003 x84H 5,880
gt (LetEH, 24, &2, Ystst)
180,000& x84 H 15,120
Ostzdilsta duana
48,541, 1603 *80H 0. 9% 34,950
JEZ(B#BLS D) 44,973 50,008 ~5,035
Jl2dul(s#+d 235 1) 44,973 50,008 A5,035
201 et 23,853 28,888 25,035
01 At 22l 23,853 28,888 A5,035
ORN2ELE=EH| 6,918,000& *95% 6,573
OJIlege=dEZ2 At 17,280
— LA 8,000 x22H «53| x 128 10,560
- X3z 8,000& x5 x143| x12& 6,720
202 O4dl 16,560 16,560 0
01 = LH o4 4l 16,560 16,560 0
OJl2gR==A=Z NI 60,0003 x23H x12& 16,560
203 YR =2l 4,560 4,560 0
04 FN2EHSFAH 4,560 4,560 0
ORN2EYEF=AHI 400,000& 123 *95% 4,560
JHRotD HEs BSEA =4 23,094,746 18,355,136 4,739,610
= 300,000
Al 1,504,259
- 21,290,487
B HAXG HH L FLAEES MM 13,435,985 11,951,758 1,484,227
= 300,000
Al 150,000
- 12,985,985
S FHAX G FHH| 135,614 181,678 A 46,064
201 2Bt Ayl 5,874 5,874 0
01 At 22/l 5,874 5,874 0
Oget=gH| 5,874
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AN EIESH
M JiRot] HEE HSEA =4
Sel: BAFANY Yl L HAHE FOH (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 300,000
Al 150,000
T 150,000
405 RHoHF S HI 600,000 0 600,000
2 300,000
Al 150,000
T 150,000
01 AL EZFH S 600,000 0 600,000
O&E=2 THHIMHI MH BLAXE 2
300,000,000 »2CH 600,000
2 300,000
Al 150,000
T 150,000
MEHIIZE HMel 8,883,334 7,462,902 1,420,432
201 Let24] 1,200 1,200 0
01 At 22l 1,200 1,200 0
OMEHIIZ +F20 YA TS FA2
=4 1,200,000& 1,200
207 A O &l 10,000 32,000 A 22,000
01 284 10,000 32,000 A22,000
OMdEHII=S =828 LM Bt EF
10,000, 000& 10,000
307 gl2tol & 6,817,565 5,358,861 1,458,704
05 BIZIRI & 3 6,817,565 5,358,861 1,458,704
OFA U2 (MEMY D)
367,957,000& =128 4,415,484
OUEHIIZE HMeltl 59,549,000& x12& 714,588
OXd & HAZHJII= XMclbl
29,015,000& x12& 348,180
OR4sE &€ S=SAM XNeldl
6,988,330& x12& 83,860
OHg4d X% XHeltl 76,767 ,000& x12& 921,204
OSA24 TIMS(EHMAIN S) 2AH 2|
350,000& =188 65,800
OMAbH i LB BAMYI| 2019 2
Sl 223,329,000 223,329
OMEHIIE Mel SHE(EE, ER)
3,760,000& x12& 45,120
308 XtXIEHH SOl A 2,054,569 2,070,841 AN 16,272
N 3IN2SUHUEB LS A 1,656,758 1,663,660 A 6,902
OMEHIIES ez 138,063, 160& = 12& 1,656,758
12 JIEtRE=2 397,811 407,181 A9,370
OMEHIISHe RE= 350,250,000& x13] 350,250
Ox=EZdMEXN 22 47,561,000 13| 47,561




EX: sH3Es
MM JHROID WEE HEZA =4
Sel: BAFANY Yl L HAHE FOH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
MDD SEH F=X 378,155 380, 185 A2,030
201 gBt24d| 10,806 12,406 A 1,600
01 AP 22| H| 2,360 4,360 A 2,000
Ogbt4=24| 2,360
—sEHIISH 2y 222 MA
2,000,000& 2,000
—SZH=SE HBHNIXNA 82 72,000& *5I4 360
02 2% H| 8,446 8,046 400
OANAEZHI KXY 4,846
—SEH=ESE 2FHNE FA 2l
611,500 x4 3| 2,446
—HEHIIZ AHSAHEA RAEH|
200,000& x12& 2,400
O=HNEsE B2 SMHEES
3,600,000& x13] 3,600
206 M = H| 334,911 328,988 5,923
01 X2 H| 334,911 328,988 5,923
Z2HEE M (et AEIH Ex2,22
2 1) 83.302 x3,650,0000H 304,045
OQ2X<& H2E M 7.472 %3,650,0000H 27,266
OZZMEE A0 (AEIH) MZE
6002 x6,000& 3,600
308 MXISHMSOIA 32,438 26,791 5,647
11 2B 2SHUSHEAXNE AIS Y| 32,438 26,791 5,647
OZHNESE SSUHHAL 32,438,000 32,438
MY RFHEI| HH 62,083 73,864 A 11,781
201 et d| 21,083 21,044 39
01 AP 2t 2| H| 10,150 10,150 0
Ogttf==2y| 10,150
— MYD] RHE) oS 2H 2= ME
2,000,000& 2,000
— MDD 2HED] YWEHE HHIXNAN 82l
200,000& 200
-8 2 WM SIS 248
3,000 x50A 150
— MY RHEDI AT HH
80,000 604 4,800
— MY RHED 22X =2 M
0,000 x500H & 3,000
02 2=2=24%4| 10,933 10,894 39
O2322 % HA 10,933
— =0t ANEES 300,000 124 x12& 3,600
— AQDIE S EH Ed0lE
60,000 30 ~12& 2,160
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2N
X ZH -
L= B

el

=
oY M o
ol T

53
D HES YECA X4
oXS Wbl L HAHS T

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—A0E O=&0 22E(JAHEN E)
450,000& =14+ Xt 450
— ADLE HHAA8 |22
4,723,000 4,723
301 LEd = 1,000 1,000 0
12 JIEBHE4 = 1,000 1,000 0
OMY I REHEI &1 EZ&Z 50,0003 +20H 1,000
405 TtabH S| 40,000 39,820 180
01 et EFFHSHI 40,000 39,820 180
Oogll W &5 RUEINXS CCTV EXI(F2 &
OF Ofl &F) 4,000,000& = 10CH 40,000
20l 22 162,016 157,938 4,078
201 LBt 132,756 137,568 N4,812
01 At 22l 107,476 111,518 N4,042
O e8| 100,236
— 20 EA85F +Y 89,836
HBI(SHOHX) 2 25,0008 «84H x15% 31,500
BUA(HDYFY, HFY)
550R x84 H «12Z &l 123 6,653
T2 (MY e X&)
7,500 «84H »2&H &« 12 15,120
HOotA3 7003 84 40 x 128 2,823
EAH(Z Aot AZ
1,200 3 x84 H 251« 128 30,240
-E2EAE M=HM(23) 8,000 *400H 3,200
H=H 2201 100, 000& *3CH 300
— =X =2l 2,000,000& 2,000
— 303 Uil 28 223l
50,0003 1401 2« 128 8,400
o=zg=¢ 6,700
—SZ0ISUE AA=E
100,000 53 »23| 1,000
—SZ0ISFUEB AEL ZAHIE
600,000& »23] 1,200
— S0 IANE HA+S(HBZEH)
100,000 »6H »23| 1,200
— SSA&EUH 22X XA
400,000& »1CH *23] 800
— DIt WsE ZA= 300,000& 1«43 1,200
—Dlgtaus Aos 50,000 1 x43] 200
— 303 Ag2d 257 £ ANES
INE=F= 200,000& »23] 400
—EAY MEHUANE ¥ HEE)
100,000& 73] 700




SN BALSY
MM JHROID WEE HEZA =4
Sel: BAFANY Yl L HAHE FOH (B9 ®R)
- RE]
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
OtHNISE XX B2 M=
180,000 »3H 540
02 2224 4| 25,280 26,050 ANT70
O2222 <2 HA 12,240
— 3013 SAHA 2Z222(HIIA)
60,000 x1401 2~ 12 10,080
—SA0SY R %QEE(ENR:)
60,000 *3CH * 2,160
O 24| 3,520
EAHDSE EHA gty
1,100 *8CH *4 Al 2 %100 3,520
OA & &Hl XYl 2,800
— 8403 d FEHE RANES
200,000 1000 A~ 2,000
— SA0ISR EEZ2 02 X2 M) &
PR 500,000& 500
— 8 A0 RHI| 2 € X224
100,000 «3CH 300
oo 24| 6,720
— &AL HeESHI S 80,000& x84H 6,720
202 o4l 3,600 2,320 1,280
| 3,600 2,320 1,280

01 =W
3 ()]l 3,600

-
450, OOO%*1m*22| 900
— A0S HAANI (D F) A&0HY)
450,000& »3& #2323 2,700
303 Z& 3 5,600 7,500 21,900
01 L& = 5,600 7,500 A 1,900
OSIXT T (LYE S) 5,600
— 109 0l & 280,000 x5 &= »2H 2,800
— 2098 Ol & 280,000& x10= 1 2,800
401 Al HI K 201 I 16,100 0 16,100
01 A& HI 16,100 0 16, 100
OZ0ISY BIla S#AMLTA L 0l
(=3s) 5,500,000 =104 2 5,500
OIS HIIa BANEBA(ES, S
oIdE) 5,300,000& *20H A~ 10,600
405 XtabFE SHI 3,960 10,550 A 6,590
01 AL ESFH S 3,960 10,550 A 6,590
OZ0ISY 1A YuwI TYax
990, 000& *4TH 3,960
Sedtea X 46,932 97,220 A 50,288
201 LEt2A | 46,932 52,220 A5,288
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SN BAESD
MM JHROID WEE HEZA =4
oSl HOI2 23 Y IAS =2 EEREEED)
= (o
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
OA & &Hl 8 Xl 152,208
—RFIDDIEE HEHFEH MSZ A
18,000 *209CH 3,762
—RFIDDIEE JHE H S EH S X E=H|
18,000 *209CH x12& 45,144
—SAES8 HIS 24HED(120L) M=
[ R== 5,500 1,089 173 101,822
—EMEEH BEZ2)| KA 1,000, 000& 1,000
—RFID SAIJ12] WA 160, 000& *3CH 480
206 M = Hl 93,250 72,714 20,536
01 X2 Hl 93,250 72,714 20,536
O 2 30,000, 000& 30,000
odsesE=s 20120 7Y 15,000,000 15,000
OSAIE8 HJIIS 228 M&E(2XE H2E
Hl Zgh) 33.25% %1,000,0000H 33,250
OS42R HIZ ERES M
302 *500, 0000H 15,000
301 et A= 5,508 2,754 2,754
12 J|IEtE2 A= 5,508 2,754 2,754
O2=sTY SAZR: HII2 2 oddEE
3,060 x1,8000H 5,508
307 2Iz2to| & 3,216,720 3,556,302 A 339,582
05 QIZtR E 2 3,216,720 3,556,302 A 339,582
OSAZER® HII2 =&t g2
141,660,000 x12& 1,699,920
OSAER® HIIZ2 Mel g2
125,000,000 x12& 1,500,000
OgsEEsNdY SAZR HII2 =42 &
e 1,400,000 x12& 16,800
308 XX G SOl A 192,420 207,694 N 15,274
07 NIXSHH2REESSZ2 52,500 46,579 5,921
SAZER HII2 Malete Jtara
4,375,000 x12& 52,500
112 Z2SUHUSHEAEAE AT Y| 139,920 161,115 A21,195
OSAZF]HIIZ2 Ml & =2
11,660,000 x12& 139,920
405 XHo&HF S HI 285,000 27,000 258,000
Al 85,500
- 199,500
01 XA 2 ZF S H| 285,000 27,000 258,000
OSASMADI ==H JIDJI(RFIDELA) & X
2,500,000 ~1140CH 285,000
Al 85,500
- 199,500




AN EIESH
M JiRot] HEE HSEA =4
oSl HOI2 23 Y IAS =2 (CHe &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Mes Hol2 RS 3,227,271 2,388,428 838,843
Al 31,340
- 3,195,931
201 £B-2d| 99,087 90,927 8,160
Al 27,000
- 72,087
01 At 22/l 45,270 37,110 8,160
O e8| 19,270
—MHEEE 2c=H 2= MH
4,000,000& 4,000
Al 2,000
= 2,000
—MHEE83 2diis 82 8=2d A
8,000& =1, 2504 10,000
Al 5,000
= 5,000
—MHEE 28 ¥2% ME 60,0003 *25H 1,500
—HESHEHotY 2EZH| 3,770,000 3,770
Oogxz 26,000
—MHEsSHEIGHE 2z 26,000,000& 26,000
02 =224l 13,817 13,817 0
Oz3&22= & HA 9,297
—MHEsdEIotE 22 9,297
HIIHEHAL =2 197,000& 197
foldbl 2 150,000& =12 1,800
F3tx A 100, 000& * 13| 100
=2323(&8J], dst) 600,000& »12& 7,200
OAE ZHI S X 4,520
—MHEsSdEHotE 28 ALZFH KX
4,520,000& 4,520
03 & AL2 Gl 40,000 40,000 0
OFCHE HOtite NHE=SWSE ALY
40,000,000& 40,000
Al 20,000
- 20,000
301 LA F 9,180 9,180 0
Al 4,340
T 4,840
12IJIEBE43 9,180 9,180 0
OvlEJl B53 duEa3 50,000& x10H 500
OZ0IH =HE A% aAFX WEASH
3,680,000 3,680
Al 1,840
- 1,840
OHAMX e 23 1,000& *5,0004 5,000
Al 2,500




EX: sH3Es
MM JHROID WEE HEZA =4
oSl HOI2 23 Y IAS =2 EEREEED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
- 2,500
307 2iz2to| & 1,927,589 1,889,969 37,620
05 QIZtR &2 1,927,589 1,889,969 37,620
OMERE Mggle Hasez
130,000& x2,090= 271,700
OMEERE +ZL8 HE222
135,057,340 x12& 1,620,689
OYZERNY WHSE 232 S
2,600,000& ~12& 31,200
OHEZE 28 =2 202 *200, 000K 4,000
308 XHXIGHH SO0l & 1,191,415 396,032 795,383
07 AXISHHZ2ES S 731,735 0 731,735
OdeEd ZAMERNIAZSHE 2 Mo
731,735,000 731,735
11 BI2SHUSEANRE AIS Y 459,680 396,032 63,648
OMEE HE9le gassr
130,000& 68 = 52 459,680
MEE s - =1 e ALY 2,474,838 0 2,474,838
Al 1,237,419
- 1,237,419
201 LBt Y| 99,400 0 99,400
Al 49,700
- 49,700
01 AP 22| d| 79,400 0 79,400
OHEHESANE(MEE 22lE=HU)EX
250,000 *200CH+180,000< «80CH 64,400
Al 32,200
- 32,200
OXg&eAl 29235 #+¢ 15,000, 000& 15,000
Al 7,500
- 7,500
02 2%l 20,000 0 20,000
OXS&2IA &oll 282 200,000 x100H 20,000
Al 10,000
- 10,000
206 M = Hl 241,438 0 241,438
Al 120,719
- 120,719
01 X2 H| 241,438 0 241,438
olgzs d3g 85§ #7¢ 241,438,000 241,438
Al 120,719
- 120,719
301 et M= 576,000 0 576,000
Al 288,000
- 288,000




EX: sH3Es
MM JHROID WEE HEZA =4
2 HOl2 2Es 2 XNF 20 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
12 JIEtE2 A= 576,000 0 576,000
OXNRZZIA 2Y
10,000 * 100 x4 A| 2Hx 12 « 128 576,000
Al 288,000
- 288,000
307 2iz2to| & 1,078,000 0 1,078,000
Al 539,000
- 539,000
05 QIZ2tR &2 1,078,000 0 1,078,000
O%3 214 Z00 G2 5% HIE 24
1,078,000,000& 1,078,000
Al 539,000
- 539,000
405 XHAHF S HI 480,000 0 480,000
Al 240,000
- 240,000
01 XAt 2 ZF S| 480,000 0 480,000
OM&Eg =1 &8 g =IF 2
80,000,000 x6CH 480,000
Al 240,000
- 240,000
=& BN SEZAMO sHa 526,466 449,972 76,494
Al 80,100
- 446,366
=Xel & HSX 22 2,280 1,980 300
=HelAlE ¥ S=EsHGGX 22 2,280 1,980 300
201 et d| 2,280 1,980 300
01 AP 2t 2| H| 2,280 1,980 300
OHEANGIX HACY RERZ
380& *6,0000H 2,280
=S5 A 22 524,186 447,992 76,194
Al 80,100
5 444 086
SSot&A HHl - &3 524,186 447,992 76,194
Al 80,100
5 444 086
201 et | 132,226 101,026 31,200
Al 28,600
5 103,626
02 2224 132,226 101,026 31,200
OHEIAEHA =2 150,000& =7 JH 2~ 1,050
02222 714,000 70 2 +12& 59,976
OZ2=s&4 2xHdelt] 7,000,000& x23| 14,000
OZ2ZSH&A KA 22AE 57,200,000 57,200
Al 28,600




2N
X ZH -
L= B

el

0 > e

o U oX
H
>
S
0K
O
0
=

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
- 28,600
206 M= Hl 42,000 0 42,000
01 =8l 42,000 0 42,000
O==stza 3,500,000& x12& 42,000
301 LA S 27,800 25,200 2,600
12 JIEtE4 3 27,800 25,200 2,600
OMgst&a 500, 000& 22K 2~ 11,000
O=& Hest e
,200, 0003 #1404 2= 16,800
307 21201 A 219,160 321,766 A 102,606
05 BIZERI & 3 219,160 321,766 A 102,606
O==st&a 219,160,000 219,160
401 Al& Bl 28I 103,000 0 103,000
Al 51,500
T 51,500
01 A& HI 103,000 0 103,000
OZ2ss &4 100,000,000 * 10 2 100,000
Al 50,000
T 50,000
O3=st&A MEN SX(RIGEHE F0&
Od Ofl &F) (500, 000& *4JH 2 )+1,000,000& 3,000
Al 1,500
- 1,500
JHRStD HES TAIEE ,050,500 1,330,793 A 280,293
= 489,220
Al 190,940
- 370,340
S2EA L 22 230,790 255,644 A 24,854
= 83,220
Al 36,940
- 110,630
MAEE AISE 2 o 12,000 8,000 4,000
= 6,000
Al 3,000
- 3,000
201 et 7,200 4,800 2,400
= 3,600
Al 1,800
T 1,800
01 At 22l 7,200 4,800 2,400
OHIMHEZ ALY SHALEE A
= MY 7,200,000& 7,200
= 3,600
Al 1,800
- 1,800




EX: sH3Es
M JHRoLD ESH TAEEH ZH(HZBES N
el BARN Y 22 (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
301 et A= 4,800 3,200 1,600
= 2,400
Al 1,200
- 1,200
12 JIEtE2 A= 4,800 3,200 1,600
OHIMHEE A A 24AJIA JSHAHAE &0
Ab AlH| B2 &b 4,800,000& 4,800
= 2,400
Al 1,200
- 1,200
SAIA M2ZIHE QIHEIE MG(SHAZAERM 29 9,200 10,000 A 800
)
= 4,600
Al 2,300
5 2,300
301 et M= 9,200 10,000 A 800
= 4,600
Al 2,300
- 2,300
12 J|EtE2 A= 9,200 10,000 A 800
OEAZQERN JIIIFR QAMEE X2
9,200,000& 9,200
= 4,600
Al 2,300
- 2,300
ANHAEH BA 35,310 32,508 2,802
Al 2,100
- 33,210
201 et 1,000 374 626
01 AP 2t 2] H| 1,000 374 626
OOMES MA 82 HHl - 22 S
1,000,000 1,000
203 € R F=&d| 950 950 0
03 AIEH =X H 2 F XY 950 950 0
QtAEEM AIZ =& 1,000,000& *95% 950
206 M = I 12,160 9,984 2,176
01 =4l 12,160 9,984 2,176
OXF|IIM 7+ 32,000 3808+ A 12,160
301 et A= 6,200 6,200 0
Al 2,100
- 4,100
12 JIEtE2 A= 6,200 6,200 0
SBAMMESE29 X - X2 2L BSAY
4,200,000& 4,200
Al 2,100
- 2,100




SN BAESD
FM: HRGHLD XS SASE L (S#ZES)
Cell BESEE Y 22 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OOrdsAlE 28 2 2 duENS
1,000, 000& *23| 2,000
307 glz2tol & 15,000 15,000 0
02 IZtE M AHE L 15,000 15,000 0
OXSH MBDS L +ABLANY
8,000,000& 8,000
Ostd=Es & &A3E ZAl 7,000,000& 7,000
#ZNERgs 2o, d = 43,680 45,580 A 1,900
201 Let24E] 43,680 45,580 A 1,900
01 At 22l 10,430 11,280 A 850
OZMEREZ DXAM |
110,000 »70& Xt 7,700
OgRel 222 HME 70,0003 1304 2 *32] 2,730
02 =24l 33,250 34,300 A 1,050
OBANWHRELS 2HEY 23
350& 95,0004 33,250
Sdl0IE Hel XA (BEX) 66,800 60,970 5,830
= 33,400
Al 16,700
- 16,700
403 A X EHHS =0l A 66,800 60,970 5,830
= 33,400
Al 16,700
- 16,700
02 SO 2SO HEHAHE X 2| &AL H 66,800 60,970 5,830
OsdiOIE HMeldl & 44,720,000 44,720
= 22,360
Al 11,180
T 11,180
OXsMz XA 15,200,000& 15,200
= 7,600
Al 3,800
- 3,800
OotI=& 3 X& 6,880,000 6,880
2 3,440
Al 1,720
T 1,720
SdI0E H=ZALALY 14,000 0 14,000
= 7,000
Al 3,500
- 3,500
403 MHXSHHSA=0l& 14,000 0 14,000
= 7,000
Al 3,500
- 3,500
02 S 2S00 CHet A =8 2 & AL H 14,000 0 14,000




SN #EESD
M JHRotD RS TAEE XL (BEES Y
el BARN Y 22 el iEE)
- _ _ RE]
HE .G (3H) - HEAY - B %@i HD=2
OsdolE =2 dLXRA 14,000,000& 14,000
= 7,000
Al 3,500
- 3,500
MO HAS 8,000 6,729 1,271
= 7,200
Al 800
301 &bt 8,000 6,729 1,271
= 7,200
Al 800
01 A3l = 8,000 6,729 1,271
A =20 X2 4,000,000& »2H 8,000
= 7,200
Al 800
38 AsA2 2 2AtL 41,200 40,000 1,200
= 24,720
Al 8,240
- 8,240
402 RI2H X 20| M 41,200 40,000 1,200
= 24,720
Al 8,240
- 8,240
02 912+ SX(0I &) 41,200 40,000 1,200
Ot N=A 22 BE2AIY
200,000& L BF156CH4+500, 000 * H A~ S = 2004 41,200
= 24,720
Al 8,240
5 8,240
INE=PN= A 29 600 0 600
= 300
Al 300
301 Bt 600 0 600
= 300
Al 300
12 J| Et 600 0 600
O X+ ESEAIZQERN oA
40,000 = 15CH 600
= 300
Al 300
A & A 22 730,563 1,024,732 A 294,169
= 406,000
Al 145,000
- 179,563
BtHAQES & 22| 108,588 12,402 96, 186
= 64,000
Al 16,000




AN EIESH
FM: HRGHLD XS SASE L (S#ZES)
& aPEF e (Sl & &)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
- 28,588
2Bt | 7,160 6,910 250
AFS 22l 4,200 4,350 A 150
Oger==&H| 2,440
— 3olltHE=d A ANEEFE M
16,000& =402 640
—SZ2ZAD BHHY = USSR X
el = 600,000& *x3& 1,800
OZ2g ALl oleg &= M
70,000 = 10K 700
o=l 900
—&E,8Z #AYs 100, 0002 6 600
— XA (A S 50,0003 63 300
O=ZHIER1l= MENE ER+=E
16,000, 000& * 1% 160
S 2l 2,560 2,560 0
OgZa=sd &4 s 1,600,000& 1,600
O128 ZA2D 82 0Isde) 2=
50,000& =128 600
OSZE=ZE &L 2HEY NEEHR23
30,000& =122 360
A2 EHI 400 0 400
OguazdZA2 ¢ JI=sXd U 400
— WM = 100,000 43 400
M=l 2,678 2,742 A4
1 MHZ 4l 2,678 2,742 A64
OH=AZ MAEI ¢ 1,114
— 228 PEE S 80,0003 *64f Xt 480
— === 170,000& =14 170
— X ===410I31(1000m!) 116,000& =4 K 464
OIS SEAD Ul LRI 2 1,564
—SEFU(MEE) 66,0002 » 104k Xt 660
—SEFN(SE) 113,000 =84+ Xt 904
Ut Z 2,750 2,750 0
JIEtEA S 2,750 2,750 0
Ostgdgde dunds 50,000& »40A 2,000
OZciti=ed A Q2EHH SHEXE 243
25,0003 x15H #23| 750
402 212t A= 01 & 96,000 0 96,000
= 64,000
Al 16,000
- 16,000
DIZEXI2AIE X (0 MTHA ) 96,000 0 96,000




AN EIESH
FM: HRGHLD XS SASE L (S#ZES)
& aPEF e (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=ZTMSE ALY 2H XA
24,000,000 =44 2~ 96,000
= 64,000
Al 16,000
T 16,000
orF 2tel 80,925 111,280 A 30,355
= 42,000
Al 9,000
- 29,925
201 ¢er24] 12,785 5,000 7,785
02 =224l 12,785 5,000 7,785
02323 % HA 2,280
—Qolotx A OSEN 23
10,000& 190 x12& 2,280
OA&ZH ®Xdl 10,505, 000& 10,505
206 M= Hl 8,140 5,280 2,860
01 =8l 8,140 5,280 2,860
OAFEEHS) & 222 Y 8,140
— 102l Z&H 286,000& x5F S 1,430
— 52l =& 242,000 x5 2 1,210
—HZESY 110,000 *5JH4 550
— AHE S 330,000& =154 4,950
405 TtabH S| 60,000 80,000 220,000
= 42,000
Al 9,000
- 9,000
01 AL EZFH S 60,000 80,000 220,000
OAHFHISANEHAEX 2
15,000, 000& =4 CH 60,000
= 42,000
Al 9,000
- 9,000
22 AL E SRAE X KNE AL 541,050 901,050 A 360,000
= 300,000
Al 120,000
- 121,050
201 €24l 1,050 1,050 0
01 At 22l 1,050 1,050 0
OXFALZAEE LXAIE EXNXZ A & AR
2 =g 70,0003 x3H «53| 1,050
402 RI2EX 20| N 540,000 900,000 A.360,000
= 300,000
Al 120,000
- 120,000
02 QI 2 A EZ (O TH ) 540,000 900,000 A 360,000
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